
Main Frame & Fittings
15/03/2018  10:24:23

Thunderbird 1600 & 1700 > THUNDERBIRD > Frame, Footrests, Engine Mountings & Stands > Main Frame & Fittings

SEQ PartNumber Part Disc RRP Qty CommentReq.

1 T2078006 Frame, Spares Assy, 

World

9  3,673.86  0 > 414006 1

1 T2071650 Frame Assy, RoW STD  3,566.87  0 414007 > 1

1 T2078007 Frame, Spares Assy, 

Canada

9  3,673.86  0 > 414006 1

1 T2071651 Frame Assy, Canada STD  3,673.86  0 414007 > 1

1 T2078008 Frame, Spares Assy, 

Americas

9  3,673.86  0 > 414006 1

1 T2071652 Frame Assy, 

Americas

STD  3,673.86  0 414007 > 1

2 T2071980 Adjuster, Frame, 

M12

STD  11.45  0 2

3 T2070347 Frame Adjuster, M16 STD  7.98  0 1

4 T2051010 Swingarm Pivot 

Adjuster

STD  28.68  0 1

5 T2078099 Boss, RSU Mount STD  46.12  0 2

6 T3151007 Bolt, HHF, M12 x 

195,10.9,Slv

STD  25.07  0 1

7 T3150143 Bolt, HHF, M12 x 

282,10.9,Slv

STD  25.07  0 1

8 T3151112 BOLT, HHF, M12 x 

1.25 x 320, 10.9, Slv

STD  25.71  0 1

9 T3151001 Bolt, HHF, M10 x 

125,10.9, Slv

STD  25.07  0 1

10 T3555031 Washer, 13 x 25 x 3 STD  6.19  0 2

11 T3555029 Washer, 10.5 x 23 x 

2

STD  3.19  0 1

12 T3350032 Locknut, Flgd, M12 x 

1.25, Blk

STD  6.95  0 3

13 T3350005 Locknut, Flgd, M10 STD  5.93  0 > 529987 1

13 T3350250 Locknut, Flanged, 

M10

STD  5.20  0 529988 > 1

14 T3020054 Grommet, Sidepanel STD  2.81  0 2

15 T3350091 Nut, Captive, M6 STD  2.72  0 1

16 T2078100 Cover, Headstock, 

RH

STD  13.08  0 1

17 T3203222 Bolt, HHF, M6 x 12, 

Slv

STD  2.01  0 2

18 T3700180 Plug, Hole, Plastic STD  3.00  0 2

IMAGE UNAVAILABLE



Main Frame & Fittings
15/03/2018  10:24:23

Thunderbird 1600 & 1700 > THUNDERBIRD > Frame, Footrests, Engine Mountings & Stands > Main Frame & Fittings

19 T3700072 Cable Clip, Dia 

15-16mm BK

STD  4.72  0 1

20 T3452000 Bung, 38.1 Od STD  3.51  0 1

21 T4100055 Decal, Clear, 35 x 65 STD  3.19  0 > 414006 2

22 T3900136 Label, Engine Oil STD  3.32  0 1

23 T2400494 Support Rubber, 

Fuel Tank

STD  22.68  0 2

24 T2300835 Grommet, Side 

Panel

STD  2.17  0 4

25 T3450101 Button, Firtree, M6 x 

11

STD  1.60  0 1


